Apyxelo descriptive.mpx

Mean of X
Mean of X = 37226,6
Median of X
Median of X = 35990

Descriptive Statistics: X

Statistics

Variable N N* Mean StDev Variance Minimum Q1 Median Q3 Maximum Range

X

509 0 37227 6636 44036493 10050 32886 35990 41391 60081 50031

Variable IQR Skewness Kurtosis
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Stem-and-Leaf Display: X

Stem-and-leaf of X N = 509

1
3

4

56
221
(129)
159
69
17

7

2

QU U A B W WNN R =

0

57

4

5556666677777777777777778888888888999999999999999999
0000000000000000111111111111111111111222222222222222222222222222222222222222233+
5555555555555555555555555555555555666666666666666666666666666666666777777777777+
0000000000000000000000000011111111111111122222222222222223333333333333334444444+
5555555555555556666666666777777777777777778888889999

0112223334

55779

00

Leaf Unit = 1000



Boxplot of X
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AloTpaTa EUTLOTOOUVNG KAl EAEYXOL VTIOBETEWY
One-Sample T: X
Descriptive Statistics

N Mean StDev SE Mean 95% ClI for p
509 37227 6636 294 (36649; 37804)

u: population mean of X

Test

Null hypothesis Ho: p=40000

Alternative hypothesis Hy: p# 40000
T-Value P-Value
-9,43 0,000



Apyxelo Pareto.mpx
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Pareto Chart of C1
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Pareto Chart of C1
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P Chart of KaB. Mapad.
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Tests are performed with unegqual sample sizes.

Test Results for P Chart of Ka®. Mapasd.

TEST 1. One point more than 3,00 standard deviations from center line.
Test Failed at points: 17; 19; 20



Sample Mean

Sample Range

Xbar-R Chart of Méto 1.1; ...; Méto 1.3
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